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In classical statistics, which of the following statement is true?

a. The wave functions overlap. b. The wave functions do not
overlap.
c.  There is no wave funclion. d. The wave functions vanish.

The Kirchoft’s law of black body radiation is £ =7
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For Bose-Einstein condensation to occur, which of the following is correct?
a. T<Ty bl —Tx
c.T=Ts dT=0
In grand canonical ensemble, which one of the following remains constant?
a. (T,N,V) b. (N, E,V)
¢ L ) Ao (T, B W)
Which one of the following option is correct?

I) m-meson 2) proton 3) neutrino 4) a-partice
a. (I,2) are fermions b. (2,4) are bosons
c. (1,2)are bosons d. (2, 3) are fermions

For degeneracy, the value of @ depends upon which of the following?

a. (m,T,n) b, h i)
c. (k,n,m) d. (11, f,n)
The mean energy in terms of partition function is given by
a a
i —(InZ b.——(InZ
a ()ﬂ(n ) > ()ﬂ(" )
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The thermodynamic probability of Fermi-Dirac distribution is ---?
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Which of the following statement is false?

a. According to Planck’s hypothesis, the b, A black body radiation chamber
resonators absorb or emit energy is also filled with Planck
continuously, oscillators.
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18.

20.

c.  Ravleigh-Jeans law cannot explain d. The energy distribution of black

the shorter wavelength region. body spectrum is not uniform
over a wide range of wavelength,

In quantum statistics, the particles are---?
Identical and Indistinguishable. Non-Identical and
" Indistinguishable.

c. Identical and Distinguishable. d. Non-Identical and Distinguishable.
Bose-Einstein distribution function is given by n, =2:
. Ji Yi
T patfE| e @tBE-
Yi K

© eatBE —1 d. g AiT

The total energy in terms of partition function of an equilibrium svstem is given
v - .

by

a. = Nk'l’“—d—(an) b. E = NKT i(ln Z)
Jap ar

c E=—Nir? 2 (InZ) d. K= Nk'["i(l-nZ)
ar ar

The Gibbs potential in terms of partition function of an equilibrium svstem is
given by _

a. G =RT+ NkT(InZ) b. G =-NkT(InZ)

¢. G=RT?—=NkT(InZ) d. None of these
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